Beziehungolv* und relative Buntheit c* )« oder Buntheit a* 5+, b* o«
System: JG29_sRGB display 0%_G0 C*gye=max (olv*) - min (olv*)
Etgebmssahgormankek: t o+ =t* jap n*=1 - max 6ivt)= 1 —i*
b*olv+  w=min (olv*)= 1 —d*

t* opr=W* + 0,5C% g0

YOOL

%o+ =C*oly+ €OS hyp
b* i+ =C* i+ SiN hypy

relative Buntheit
a*ojyx




Beziehungolv* und relative Buntheit c*,« oder Buntheit a* 5+, b* o«
System: JG29_sRGB display 0,6%_GO0 C*gye=max (olv*) - min (olv*)
Etgebmssahgormankek: t o+ =t* jap n*=1 - max 6ivt)= 1 —i*
b*olv+  w=min (olv*)= 1 —d*

t* opr=W* + 0,5C% g0

YOOL

o+ =C*o+ €OS
b* i+ =C* i+ SiN hypy

relative Buntheit
a*ojyx




Beziehungolv* und relative Buntheit ¢*o,~ oder Buntheit a* gy, b*qj~

System: JG29_sRGB display 1,3%_GO0 C*gye=max (olv*) - min (olv*)

Etgebmssahgormankek: t o+ =t* jap n*=1 - max 6ivt)= 1 —i*
b*olv+  w=min (olv*)= 1 —d*

YOOL t* opr=W* + 0,5C% g0

@ aoiyr=C*oly COS fyp
b* o+ =C* i+ SiN hapy

relative Buntheit

*
Qolv*




Beziehungolv* und relative Buntheit c*,« oder Buntheit a* 5+, b* oy«

System: JG29_sRGB display 2,5%_G0
Etgebmsafigormaiikgk; o=t jap+

YOOL

C*gpyr=max (0lv*) — min (olv*)
n*=1 - max plv*)= 1 -i*
b*olv+  w=min (olv*)= 1 —d*

oy =W* + 0,50k e

o+ =C*olr €OS hyp
2 o+=C*gly+ SiN hapy

relative Buntheit

*
Qolv*




Beziehungolv* und relative Buntheit c* )« oder Buntheit a* 5+, b* o«
System: JG29_sRGB display 5%_G0 C*gye=max (olv*) - min (olv*)
Etgebmssahgormankek: t o+ =t* jap n*=1 - max 6ivt)= 1 —i*
b*olv+  w=min (olv*)= 1 —d*
t* opr=W* + 0,5C% g0

o+ =C*o+ €OS hyp
0%+ =Coly+ SN My

relative Buntheit

*
Qolv*




Beziehungolv* und relative Buntheit c* )« oder Buntheit a* 5+, b* o«
System: JG29_sRGB display 10%_G0 C*gye=max (olv*) - min (olv*)
Etgebmssahgormankek: t o+ =t* jap n*=1 - max 6ivt)= 1 —i*
b*olv+  w=min (olv*)= 1 —d*
t* opr=W* + 0,5C% g0
o+ =C*o+ €OS hyp
B* o3 =C* o SiN hapy

relative Buntheit

*
Qolv*




Beziehungolv* und relative Buntheit ¢*,« oder Buntheit a* 5+, b* o«
System: JG29_sRGB display 20%_G0 C*gye=max (olv*) - min (olv*)
Etgebmssahgormankek: t o+ =t* jap n*=1 - max 6ivt)= 1 —i*
b*olv+  w=min (olv*)= 1 —d*
t* opr=W* + 0,5C% g0

o+ =C*o+ €OS hyp
b* i+ =C* i+ SiN gy

relative Buntheit

*
Qolv*




Beziehungolv* und relative Buntheit c* )« oder Buntheit a* 5+, b* o«
System: JG29_sRGB display 40%_GO C*gye=max (olv*) - min (olv*)
Etgebmssahgormankek: t o+ =t* jap n*=1 - max 6ivt)= 1 —i*
b*olv+  w=min (olv*)= 1 —d*
t* opr=W* + 0,5C% g0

o+ =C*o+ €OS hyp
b* i+ =C* i+ SiN hypy

relative Buntheit

*
Qolv*




